: WSD070701-D.dwg

Cad Ref.

4 NOS. ¢14 x 20 SLOT

FOR M12 BOLT

6 NOS. M12 BOLT

6 NOS. 914 HOLE
_ AND NUT WITH WASHERS FOR M12 BOLT
Sl B IE
T ol | | 1T | | 1
3 i | @@ R Q} |1 Q} Q @@ |
B _ \ | || \ \
< -4 4 q--
ELEVATION
| 150 | | 150 |
\ \ \ \
| 125 R 75 15 100 | 125 |
\ { \ { \ { \
25, 40 25 40 |25
H0n B S
T T X | — T T T
Co | \ \
o mm Irrf*n ” rrﬁwI Irmwmn
@ M M HHPHHEHHH
— o )1 HlH HH )1 A HE A I <
] 1R w\ = SN U0 of WU [ 2% X .
e sLoT P e R
o S L 180 x 150 x 75 DP. HOLE O T
S R FILLED WITH CEMENT MORTAR L
4 .4 (N PRECAST CONCRETE UNITS ONLY) '
< <
PLAN
¢ 1
CLAMP TYPE 1
D = 33 FOR TYPE A
= 43 FOR TYPE B
X = 290 OR 390
TOP OF EXTENSION KEY AT
300 MAX. TO FINISHED GROUND LEVEL
<
‘EWAE_L? 8[ T CLAMP WAL
S - ! .
|00 SR
B 4 - . -q-.
‘g
L] 4
ASSEMBLY OF KEY AND CLAMP
SCALE 1 : 10
D  |GENERAL REVISION S.K. YEUNG | 12/1/15
C  |NOTE 2 UPDATED W.K. CHU |18/7/08
(I) y .5|0 1[|]O 15|0 290 2|50 mm
B |RE—FORMATTED TO CSWP WK. CHU |14/11/03
1:5 SCALE BAR
0 100 200 300 400 500 mm A | GENERAL REVISION W.K. CHIU | 21/8/00
1:10 SCALE BAR REF. REVISION APPROVED DATE
K #HE
Water Supplies Department
EXTENSION KEYS AND CLAMPS pROVED | GO LEE DRAWING NO. Loswe
o WSD 7.7D
TE SHEET 1 OF 3
SCALE 1:5 OR AS SHWON ( )




: WSD070702-D.dwg

Cad Ref.

&

o 2 ROOF SLAB OF ——{~ s 4
of =7 j "~ VAVE CHAMBER _— 4 150 300 50 =
3 .

- . A - < i < B

3

Jj%
2 50 x 10 THK. PLATES | 75775 i
8] EIHRCE (6]
|
M12 BOLT AND 2 NOS. #14 x 25 SLOTJ L6 NOS. #14 HOLE
NUT WITH WASHERS FOR M12 BOLT T
SECTION A — A ELEVATION

— =
N\ \‘ p OPENING ABOVE

o
50 x 10 THK. PLATES

/ AN t
Z N 6 NOS. M12 BOLT
_ AND NUT WITH
WASHERS

PLAN
CLAMP TYPE ‘2

D = 33 FOR TYPE A
= 43 FOR TYPE B

(IJ | 1(I)O 2(|)0 3(|)0 4-(|)0 5|00 mm

v
‘S’ Water Supplies Department
EXTENSION KEYS AND CLAMPS APPROVED fb‘;N;fE DRAWING NO. | cswP_
e iy WSD 7.7D
SCALE 10 (SHEET 2 OF 3)




: WSD070703-D.dwg

Cad Ref.

. TAPER 1 IN 20 0
© ON EACH SIDE
) N T —
¥ 8 O 2 NOS. #10 RVETS — | E of @
. hd h ot
‘ WELD |
i it
L L
= | 5
w | | wn
3 3
E —= < S
= =
= | | =
£ — — &
B B
(] (]
Ll L
[aa] m
2 2
£ | | =
= I iR
48] \ ¢“L0 \
T WELD T
Te] wn
oo L o
ol 8 ? 3
Ire) 1 [ — — 5))
+ = wof
T TAPER 1 IN 20 —
“ ON EACH SIDE
[ea] o wn
~ - (o]
R g[
M12 SET BOLT 35 W12 SET BOLT 48
B2 #0 |
¢ ) ¢ )
TYPE A TYPE B

NOTES :

(FOR 50mm - 300mm S.V.)

(FOR 350mm — 1000mm S.V.)

EXTENSION KEY

1. ALL DIMENSIONS ARE IN MILLIMETRES.

2. THE MATERIALS FOR FABRICATION OF EXTENSION KEY, CLAMP AND ITS ASSOCIATED BOLTS, NUTS AND WASHERS SHALL BE
STAINLESS STEEL OF STEEL NUMBER 1.4401 COMPLYING WITH BS EN 10088 OR MILD STEEL HOT-DIP GALVANIZED TO
BS EN ISO 1461, AS SPECIFIED IN THE CONTRACT.

3. THE LOCATIONS AND DIMENSIONS OF KEYS, TYPE OF CLAMPS TO BE USED SHALL BE DETERMINED BY THE ENGINEER.

0 50 100 150 200 250 mm
AR
Water Supplies Department
EXTENSION KEYS AND CLAMPS APPROVED 2b(>Nl\;1EE DRAWING NO. [ csw
OATE o/5/52 WSD 7.7D
o — (SHEET 3 OF 3)






